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H s - s | oxm PEEORER) Koy | e | sy éﬁ%ﬁm% e | K8
Nt | LS BRECEA B ;;f,ﬁ | T (B A R @A B KM (e ] | PEIN KO | VR | AT
[ {4 ()| (C) | (m) | (cm) (%) | () | (%) (mg/g)[{(mg/g) (m) | (C)
AeigE | R EAR N ERk244E10H16 H | 13:00] = 200 17.0 -[ >30 B M5 ML 201 3.1 - - - <0.3| 17.0
Kifs (e Tk24410H16H |13:00] & | 20.0| 17.0 4 >30 e w5 9 L 238 35 - - - <0.3| 175
") FRk244E10H16 H | 13:00] & 200 17.0 -| >30 (i 5 L 26.6] 3.4 - - - <0.3| 18.0
Z%%l ﬂ;ﬂ“ rb“ k244210 H19H [ 14:00] W5 | 128 16.0 | >30 1B, fix ML 298] 24 - - S| <0.3 -
5 (A

i)
AR A 1 | PEEk244E11H6 H 11:15( %= 12.1| 10.0 - 14 B [RI%$3 ML 461 85 - - R -l 9.0
FROTIURG (| 2 |Ppk24F11H6H  |11:35) & | 125] 100] - 14 B o &L 369 53 - A kA -| 100
i) 3 |'FrEk24411506H 11:45| &= 12.7] 10.0 - 14 (i 5 L 36.4 5.6 - - -t -1 9.0
EUNEH 1 | k2449 H 20 H 11:15] W5 [ 25.2| 230/ 3.0 - Ea) [RI#%$3 L 521| 7.3 - - |k 15.5| 23.9
2 |'Fhk2449420H 11:35| H& 26.9| 240 35 - Hem fifbokF# ML 56.8| 8.4 - - -| Rk 15.5| 23.8
3 | k2449 H 20 H 10:45| W5 | 26.4] 230/ 35 - Ea bk mL 423 6.3 - - |k 15.5| 23.8
AFR SR (E&| 1 k244104 10H | 10:15] = 18.0 16.5 | >30 PR 5L (L7 19.1] 15 - - |, 0.3| 16.0
) 2 |F%24410H10H |11:09] & | 20.0| 18.0 -| >30 Yte 5L LECZ0a 242| 16 - - -| 0.3| 16.5
3 |'FR24410H10H |11:27) & | 20.0] 18.0 -| >30 PR M ML 247 1.8 - - - 0.3] 17.0
ORI %;af’lﬁ (k| 1 |Fpk24sE11018  [10:35) B | 154 157 20 - IRk - R [VeR mL - - - - RS 6.2| 16.6

vis
BT [IAEIAER] 1 [SPK244E11 0198 | 14:20] W 9.8 9.1 | >50 P HWIRE () L - - - - BERCIORR 07 97
& (BT | 2 |‘Erk244E11A 198 | 14:38] I 9.8 9.1 -| >50 et WHIRE () L - - - - -|FEB - ¥ 04| 95
3 |FRk244£1119H | 15:00] B 9.8 9.1 - >50 ENIe) HIRE (%) |[EL - - - - -t - ¥ 03] 9.6
K IR ;};ﬂﬁ?&ﬂ CR¥E| 1 [ERk44£10A17H [ 10:43| = 195 17.0 05| 195 IR - Y| FRE (B0 |[HEL 273 0.9 - - %K@/ﬁ 3.2| 16.0
2 k24410 A 17 H 9:57 =& 18.0 16.6| 05 13 IR - Y| FRE (B0 (L 79.6| 12.6 - - %K@/ﬁ 79| 155
3 [ER24410H17H | 11:03] = 195/ 16.8] 05/ 21 IR - Y| FRE (B0 L 282 1.0 - - Jﬁﬁ%@/ﬁ 29| 15.6
BB ([ f BT A 1 |'FRG244£10H 180 | 11:10] &= 155 10.9 | >30 JRIE BIRE TV 53.1| 9.6| 58.0 - |, 0.1{ 16.0
(G F 717) 2 |Ek2410H18H |11:100 & | 155 109 - >30 KB HIRR Iy arsa 502 79| 652 - BE D) 0.1| 16.0
3 |'FRk244E10418H | 11:10] & 155 10.9 -| >30 IR HIRR JTa%53 63.2| 6.3] 60.0 - 3= 0.1] 16.0
&l R [/ 1 [Frk24/FE10A31H | 10:16] W5 | 17.8] 18.9] 4.3] >100 ko, R L 31.6| 4.4 20.0 - Rk - B 16.0| 18.8
2 |Epk24410H31A |11:20] W5 | 195 187 45| >100 TERREL - [ R ML 63.7| 14.1| 628 - -|BEkRE - 3| 15.1] 19.0
3 |Epk24®10H31H | 11:000 B | 18.4| 18.1 4.3| >100 ok, g)ﬁﬁ%i (i [ M L 38.6| 6.2 47.0 - -|RE - 13.8| 19.0
B [FIRRJINT A2 1 [Fpk244E11H 140 |10:30) W5 [ 282 155 0.7 >30 e AT L 260 2.1 - - |kt - | 1.0 -
bOXRME B 2 |Epi2atE11A148 [12:00] W | 21.3] 155 09| >30 S or=) e R ML 430 65 - - -| Pkt - ¥ | 54 -
AiTi) 3 |EpkeaE11H14H | 12:30] W | 22.3] 155 15| >30 e i 5 Hi% 200 0.9 - - -|HhEf - 3| 25 -
AR BT (A= | 1 |[FER244E11 1R 10:50| H& | 16.0] 14.0 | >30 D TARE () |[#mEL 210 1.1 - - |, 0.2| 14.0
) 2 k24411 H1H 11:20] W5 | 19.0] 15.0 | >30 JRAS AR () |[#EL 240 1.2 - - -| 0.1] 15.0
3 | FRi244E11A1H 11:55| 5 | 18.0] 14.0 -| >30 JRIE 8, TFARE () L 2100 11 - - - 0.2| 15.0
THER Ffﬁ < dfilREE( 1 [SPEpk244E10H 25H 942 % | 169 207 6.4 - Ea) b%zfgk%%i mL 0.7 13.9 - - |kt - s 16.4] 20.9

= i

2 |ERk24%10H25H |10:11] & | 17.2| 207 5.6 - JRAB - fifbkFEE  |[BHHF 05| 7.3 - - |kt - 15.8| 20.8
SERk244E10H25 H | 10:31] = 175 208 6.1 - IR B ﬁ.ﬁzggk%%% Higk 0.7 133 - - [kt - 14.9] 21.0




TRRAMEIET =5 ) o 7 A REHR I EH
Hi 7 - ym | eom [FEBOERE O Ay | mmEn | sy [ RUEMLR(%)  [oAH. ., BRIE | R
age | s (B0 mmenn | B | ) AR mane oam | e PR Y I e o v € (i P AR o T
il O] () | (m | (cm) i i (%) | () | (%) (mg/g){(mg/g) (m | (©)
T3 TEELUWI‘I 1 |'FRt244£10H30H | 11:05) &= 22.6| 19.0 -| >100 IR AL YR HA 26.1| 3.3 - - - - 1.8| 19.9
(T2EH) 2 |Ek24410H30H |11:40 & | 19.2| 183 -| >100 BT HEBERL ZEH. H| 261 39 - - - B 18| 18.3
3 |E%24410H30H |12:10] & | 185| 195 -| >100 JRE A e 5L i%fﬁ H| 296 41 - - - -| 1.5 19.5
U {;}Jll;‘ﬂ A GL| 1 [Wpk24411H5H 10:45| W5 | 138 165 1.0 30 EEEEra) b,?z%kf%i EJ %%E| 446 82| 100 - - -kt 40 17.8
X (i BE|
2 k24411 H5H 11:35| W5 | 14.2| 164 1.0/ 31 e b,?z%k%%i A 379 71| 100 - - -kt 28| 17.6
2
3 k24411 H5H 12:00| W5 | 14.0 163 1.0 35 e b,?z%k%%i A7 555 11.7| 100 - - -kt 23| 17.2
22
K%&Jllg‘m 1 |Frk244E115H 12:50 W5 | 15.8] 184 >1.0] 25 [l ﬁ(ﬂﬂé)ﬂ@%i A 53.4| 10.0] 100 - - |k 40| 17.8
2 |WFk244E11H5H 13:30| W& | 15.3] 18.0 >1.0 2.1 b b%zfgké%i L 55.0 11.4| 100 - - |k - B 28| 17.6
i
3 |ERk244E11H5H 13:45| W5 | 16.7| 18.1| >1.0 3.7 = ﬁ(ﬂﬂé)ﬂ@%i =L 60.9| 13.1| 100 - - |k - 2.3 172
Gi
BRI (R 1 [FErk244E10422H [14:30] B& | 235 234 25 - Ea) b,?z%k%%i L 70.0 1255 100 - - |kt - | 12.4] 22.0
2
2 |ERk244£10H22H | 14:000 W5 | 235| 237 25 - v b,?z%k%%i L 69.0/ 14.5| 100 - - -|HERE L - | 12,9 22.0
2
3 |ERk244E10H22H | 15:000 BE | 235| 225 25 - v b,?z%k%%i H# 71.0| 12.8| 100 - - -|HE L - | 12.0] 215
22
ST (ZEENI [ 1 [ SERR24E1LATH | 10450 % | 180| 17.4[ 28 - IR WL () AR < - - - - - -| 7Tk 6.4| 18.0
OINIgFTT) 2 |ER244E11AT7H 10:05| = 16.5| 176 27 - PR R (1) :1‘\7774'(\ " - - - - - -| Kk 35| 183
H, AT
3 [ER244E11A7H 10:30( = 18.9] 17.2| 28 - R W R (30 %@‘ fk - - - - - -| Kk 36| 17.6
HEE. H.
=
JINGF s b | 1 | "PRk244E11H 7H 13:23| W5 | 195 196 3.9 - JRE mlbkFR /AL H - - - - - | 143 19.7
) (%) 77t;/<r EN=
2 |'PEk244E1107H 13:50( Hi§ 20.0 196 3.4 - JKE fifbokF# ML - - - - - NSRS 14.8| 19.0
3 k24411 7H 14:05| W5 | 20.2| 19.4| 4.2 - JRE mifbkFER (B, A, - - - - - -|Ek 14.3| 18.7
(%) 77t;/<r ENE
iR IR 15.(5;!%!%%% 1 |'FERG244£10H 250 | 13:30( 15.2| 136 |27 JR1E e FGYE, AEE[ 647 9.6 - - - -| kK £ 3.2 -
i
2 |'FrEk24410H258 | 13:30] 15.2| 13.6 |27 JR1E JE5 ML 246 1.6 - - - -| kK £ 5.8 -
3 | Fk24410H25H | 13:30] FN | 15.2] 136 27 JRAB 1, JeR mL 274 20 - - - - £ 4.1 -
IV @I bgk| 1 | FAR244E11A1H | 10:00] % | 13.0{ 13.0 -| >100 KR KR () |5, /M | 340 41 - - - - 09| 14.0
il (Rl | 2 |Epke4t£11/11H  [10:35) 2 | 130 135 - >100 | KR TR (#0) |&, /e | 400 59 - | e 04| 139
) 3 [ERk244E11H1H 11:20( = 13.0 13.0 -| >100 JRE A5 TR (B |F. /M. 240 2.0 - - - -| g, 0.9| 13.2
INA
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15 Wik IR =i | Am EREREIEIR KOy | RN | JEsy | RLEERHAR(%) é?ﬁ%ﬁﬁ i FRIE
nk ELESRIA Fo RIEA A ‘z;f/n\ Fige| " EREERE  SME fF B KM |EEE EE| % W b Nt B | OO | TR
[ {4 O] () | (m | (cm) (%) | () | (%) (mg/g){(mg/g) (m)
AR ??Jﬁlil;ﬂl‘l (4| 1 [ERi24410A31H | 12:50] WS 175 17.8 [ >50 (IR - K ﬁ;ﬁf)ﬁ&% N, Hi| 368 55 - - - - - RS 35
2 |ERk244210A31H | 16:15| 5 14.2| 137 -| >50 VR ﬁ;ﬁf)ﬁ&% ML Hi| 332 43 - - - - - - - R 2.0
3 |'ERk244E10H31H | 1745 WE | 12.8] 120 -| >50 | B8 - 1A ﬁ;ﬁf)ﬁ&% N 191 14 - - - - - -| o - 0.5
EHR EON =5 1 |Ek244E11H1H 10:30( M 175 155 - - -5 M5 a 192 09| 1.3 - - - - S| 0.7
() 2 |Ere2411A18 | 10:30] W | 175] 155 - - RS 5L A 209 09| <1 - - - - e 0.7
3 |'PEk244E1101H 10:30] A 175 155 - - -5t 5 A 204 0.9 <1 - - - - - 0.7
HIZR iﬁigﬁl Hﬂf;ﬁ 1 [*FA244E10/ 251 | 11:40| W§ | 155 17.6 - >50 -[tef T % SLRDO| 243 10 A - - 05
Fifi
2 |ERk244£10H25H | 11:10] HE | 19.4] 154 -| >50 -|[te )18 5 L 237 07 - - - - - -, 0.6
3 |'FRk244E10H25H | 10:35] I 142 178 -| >50 -[tEth JIE R N 221 0.9 - - - - - 3= 0.1
RO R 1 |Fk244E111H 10:10] W5 | 122 123 12| 62 | B e L - - - - - - - -|[te - % 5.9
(PR TH) 2 |ER244E11H1H 10:35( H& | 12.4| 134 12| 62 | B NS ML - - - - - - - -|fB e - 5.8
3 |'PRk441101H 11:05| W5 | 12.6] 129 12| 62 | B JeR L - - - - - - - -|[tB - % 6.0
FREEIR EKHE (BB 1 |°FRk244F10H10H  [10:32] W | 24.0[ 225 3.0 >30 -k Bt R (3 N 415 5.0 - - - - - |, 25.3
TR X) 2 |EAk2410H10H |1046| W& | 235 - - - -|K B R () |EL 332| 39 - - - - - BE D) 17.7
3 |'Fk244E10H10H [11:00] W | 23.3 - - - KB R (3 ML 37| 37 - - - - - - 16.6
Kl (EH| 1 |‘Erke4sE10H16H | 1042 W5 | 27.8] 203 | >30 IR Bt 5L INF . 225 1.0 - - - - - | 0.6
) 2 |Em2410H16 0 |11:24) WS | 273 - - - AP 41 5L AN - 183 0.9 - - - - - REa) 0.2
3 |Frk24%£10H16H | 11:53] WEF | 27.0 - - - KB A 5 INF 171 11 - - - - - - 0.1
TR A 1 |'FRk244£10H29H | 10:00] 5 | 19.8] 21.0[ 3.0 - -|IK B fiifb Ak F ML 549 9.9 >99 - - - - et - | 8.7
2 |ERk244£10H29H | 10:05 F§ | 19.8] 21.0 3.0 - IR Bth WifbkHER  |HEL 51.6| 9.4 >99 - - - - -|Htet - | 8.7
3 |'FRi244E10H29H | 10:10] W 19.8 21.00 3.0 - R WifbkFR  [mL 53.9] 9.8 >99 - - - - -|EEtBf - | 8.7
£l = Pk 1 [Frk244E10429H [12:10] B& | 214 22.0] 20 - IR Bt [RIZ SIS 46.3] 7.8 >99 - - - - -|Fteta - | 155
2 |ERk244E10H29H | 12:15| I 21.4| 220 20 - - fifbokF# ML 462 7.9 >99 - - - - -|EEtBf - | 155
3 | FRk24410H29H |12:20] BE | 21.4] 22,0 2.0 - KB A ifbkHER  |EL 458 7.9 >099 - - - - -|Hteth - | 155
= EE (PO A T 1 |'ERE244£10H24H | 10:20 210 202 27 - IR ik FR | Hi 58.0 11.0 - - - - - -|BEkRE - | 116
2 |V%244E10H24H 1115 & | 16.2| 19.8] 25 - IR Bth mifbkER | B 61.0/ 11.0 - - - - - S|Pk - | 11.9
3 |FRi244E10H24H | 11:35] & 16.7] 205 2.2 - R RI%ES Higk 470 81 - - - - - kR - 7.8
JERRR 1 [Frk244E10416H [10:40] B | 25.2 22.3] 22 - REREE R Hi% 50.0/ 11.0 - - - - - | EREE -] 7.0
2 |ERk244£10A16H | 11:03| 260 222 35 - -|FEtB R Hi 380/ 87 - - - - - | ERkE - B 6.3
3 |FRk244E10H16H | 11:18] B | 25.7] 22.0 35 - -t R Hi% 370 7.9 - - - - - S| EE - B 6.1
B R |EEEWIME LR 1 [ERk244E11 7 13H 9:35| Hi | 16.0 - - - Bt HIRR ML 70.4| 10.7 - - - - - |kt - 52.4
UL RS 2 |FHi24411H 130 | 9:50| M - 160 - - -|IK B HIRA L 69.7| 11.2 - - - - - ikt - 57.2
3 |'FRk244E11413H | 10:09] W -| 168 - - EE HIRR L 68.3] 10.6 - - - - - -kt - 50.4
EEWEW| 1 |SEake4E11H 131 |11:10] B | 17.0] 120 - - | - HIRR IKE 70.4| 10.9 - - - - - |kt - 4.0
RPN 2 |ERk244E11A13H  [11:35] W | 17.0 - - - K - HIRE KE - H 71.3| 10.9 - - - - - |kt - 43
3 |PA24F11H13H | 1145 B | 165 - - - (IR - R HIRE KE I3 715 107 - - - - - [k . R 39
2
Sl =R 1 |FRk244£10H31H 9:40| W5 | 144 21.2| 7.0] >100 IR Bt AT ML 29.3] 1.3 - - - - - | 10.1
2 |ER%244£10A31H |10:10] W | 15.4| 21.3] 7.0[ >100 SR R [ ML 444 79 - - - - - -| e fh, 22.2
3 |FRk244£10/31H |10:50] H§ | 18] 21.3] 8.0 >100 KRB R MR L 49.9] 88 - - - - - - 22.0
AR [EE)IE RiAS 1 |ERk244E11H1H 11:10( H§ | 16.8] 17.0 | >80 R B ML 181 0.9 - - - -| 2.098 |, 0.8
R ) 2 |E2a®11H1H  |11:30] W | 168 17.0 - >80 | 1 5L L 19.6| 0.9 - - - - 1.212 | fE 0.6
3 |'PEk2441101H 11:40 16.8| 17.0 -| >80 A et 15 ML 19.2] 1.0 - - - -l 146 - 0.3




ERR2AEE T = 2 1) o T AR BUE ) JEE
Hi 7 o . o [EEOEE Aoy | e | ey | ORUERR@®%)  [eai ., e | e
age | s (B0 mmenn | B | ) AR mane oam | e PR Y I e o v € (i P AR o T
{4 O] () | (m | (cm) (%) | () | (%) (mg/g){(mg/g) (m | (©)
NG ESITTE 1 |'ERk24411H28H | 16:03) &= 11.8] 15.1| >2.1| >50 IR - B | itk SR ML - - - - - |EEkkE - K| 24| 177
() 2 V%2411 H28H |16:25| & | 11.6| 15.0 3.0 >50 ) Wi bKER (W - - - - - -| Pkt - 5| 45| 185
3 |Epk2a11H28R | 14:15 BE | 121 155 >2.7| >50 B ﬁ.ﬁz{g@%% [EL70aE - - - - - -|BEkkE - K| 27| 18.0
?l
ENTTRIPN R 1 ['FAi244210A30H [11:200 = | 162| 200[ 16 - s ﬁ.ﬁz{%@%% L 56.2| 11.1 - - - - - B 125 203
?l
2 |ER%244210A30H | 11:05| = 16.0 20.4| 2.2 - ) fiifbkF ML 62.0| 11.9 - - - -|EtB - B 12.8] 22.2
3 |F%244E10H30H [11:30] & | 175 206 2.2 - Ea fifb kKRR [MEL 58.2| 11.0 - - - -| et - | 13.1] 23.2
KBS 1 |[*FRk244-10H30H 9:00 %= 19.4| 206 2.3 - IR AL ﬁz{%@%% Higk 522 9.1 - - - - 17.0] 22.0
?l
2 k24410 A30H 9:25 & 239| 211 23 - IR B ﬁz{%@%% ML 56.4| 10.0 - - - - 17.3| 22.2
?l
3 k24410 A30H 9:40| %= 249| 214 26 - IR B ﬁz{g@%% L 486 86 - - - - 12.5| 225
?l
VEJIRAT T (K| 1 |'ERG244£10H30H | 10:05) % 17.6] 19.4| 1.8 - e fifb/kKFER (L 425 93 - - - IR - B 7.8] 22.6
B 17) 2 |W¥%244E10H30H [10:200 & | 17.7| 194 23 - L) bﬁ%kf%i L 46.7| 11.4 - - - Kt - 5| 5.9 224
2
3 |[¥%244£10H30H [10:30] & | 17.9] 20.0 16 - v bﬁ%kf%i L 414 88 - - - Kt - | 52| 224
22
I (RNE| 1 [ FRk24410H31H 9:40| W5 | 149] 173 -| 583 JRAS TR A= 437 9.4 - - - -|Fteta - B | 2.2] 16.6
6 OKRB| 2 |‘Epk244£10A318 |11.00] W | 16.3] 20.1 - 63 A TR B =3 400 88 - - - - Ee e - x| 27| 181
) 3 |FRk24410/31H |10:20] H§ | 16.3] 19.7 - 715 JRAS TR A= 445 91 - - - -|Feta - | 3.2] 177
S IR ﬁ[ﬁ%?i) (Ml 1 [ERke44£10A17H [10:30] I | 215 244 42 - PRI - W ﬁ.ﬁz{g@%% mL - - - - - -|IKEEHE - K| 10.0] 23.0
TR 19 s
2 |FA24410A17H | 957 & | 217 239 3.7 - KB - W ﬁuﬁz{%@% L - - - - - -[IK Bk - W | 10.0| 228
?l
3 |"FA244:10A17H | 9500 & | 21.7| 237 3.8 - KB - W ﬁuﬁz{%@% L - - - - - -[KEwk - W | 10.0| 235
?l
ST (RS RERR [1 |SERR244E10930H | 9:35) 5 | 182 219 35 - KR ﬁz{%@%% L 47.2| 91| 96.8 - - SRR R | 112 221
?l
2 |'FRZ24/:10H 308 | 9:58| W | 17.00 218] 47 - KR ﬁz%@% L 39.4| 7.1 79.8 - - -kt - 10.9| 22.6
?l
3 |'FRk24410H30H | 10:10] W 17.4] 220| 55 - IR fifbkKFER L 52.4| 9.4 99.0 - - -k - 13.5| 225
HBR |RFJIRER 1 |['Fk244E114130 [ 10:000 & | 14.3] 15.0 | >30 1B, TR L 250 1.4 - - - -|[te 0.1] 18.0
(FEFHT) 2 |'FRk24411 131 9:50 =& 14.3] 146 -| >30 wt ! ML 300/ 1.8 - - - -|fB e 0.1] 18.0
3 |'PRk24411 13H 9:45| & | 143 146 - >30 ENIS) ER mL 180 1.0 - - - S 0.1/ 18.0
FERILB R OJIRT AAL| 1 [ERk244E1031H [ 12:40( & | 227 20 14 - PRkt - I [mifbAk R /N - /NE| 330 5.4 - - - |t 43| 234
DNIKKE (Fn (%)
Hilih) 2 |*ERk244£10H31H |10:50 HE | 21.7] 191 15 - JRE (5, M U ER=! 222 1.6 - - - -| gt 32| 221
3 |FRk244£1031H |11:50] BE | 22.0] 196 1.3 - JREE (5, 5 - B 23.8| 24 - - - - 2.4 233
i | LU | 1 |*FRk244£10H10H | 10:30] W& | 25.0 25.0{ 1.3 - PR T8 Hiko/Nr| 446 6.0 - - - Pkt - | 9.7] 24.0
2 |ERk244£10H10H | 10:48| 5 | 275 2500 15 - PRk, TR Bt o/ 447 72 - - - -|HRE L - | 81| 24.0
3 |'FR24410H10H | 11:05] W 275 250/ 16 - PRk T8 Hiko/Nr| 495 7.7 - - - -|BEkRE - | 7.8] 245
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v Wik L e s | ki [EE R K7y [ | Vel | _RERUECR) 2R ) FRVE | IR
adb | BRI Enl  BEUEAR | K| U T LEsmase  sheL faf LSS semery (e k| s LT T e T R O G| R | R
l‘—J‘HZiKEl _ _ _ )| (€) [ (m) [ (cm) _ (%) | () | (%) (mg/g){(mg/g) [ m | (©)
JR I [ 1 |ERk244E11A 7R 10:00{ M 16.7] 205| 85 - - £ @.ﬁz{%@% L 740 12.0] 98.6 - - - - |[fkEf - IR | 18.0] 206
Tl
2 |'PEk244E1107H 10:40( H& 18.3| 20.6)] 95 - - M5 ML 73.8| 11.4] 94.0 - - - - -|FkE - R | 18.0] 208
3 |'FRk44E11H7H 10:53] F§ | 19.4] 206 10 - -|JRZS ifbkHER  |EL 75.3| 12.0] 97.7 - - - - -|REE - | 19.0] 20.6
IR URE| 1 |'PRk44E1107H 13:45( F§ | 188 18.7] 6.0 - [IRAS M5 ML 68.2| 11.0] 99.2 - - - - [fkE - IR | 14.0] 208
) 2 |'FRk44E11H7H 14:13| W5 | 18.0] 195 7.0 - -|IRZ5 £ I 5L L 70.6| 11.5| 99.4 - - - - -|REE - | 14.0] 20.6
3 |'PEk24%E1107H 14:25| R 18.2| 195 85 - -7 5 L 70.1] 11.1] 99.4 - - - - kRS - IR | 16.0] 206
ISR EE SN 1 [*Frk244£11 4150 [10:05) B& | 17.8] 185) 45 - - bﬁ%kf%i L 64.0] 13.1 - - - | 19 | F 22.2| 18.0
2
2 |ERk24%11H15H | 10:10| W5 | 17.8] 185 45 - - A b,?z%k%%i L 53.0| 12.1 - - - - 18 -|E Rk 22.7| 18.0
2
3 |ERk244E11H15H | 10:15| W5 | 17.8] 185 45 - - A b,?z%k%%i L 50.0, 9.3 - - - 17 -|E Rk 21.0| 18.0
22
FE 1 [Frk244E11 4190 [10:40] B | 144 158] 20 - APRE) I 5L L 38.0] 6.4 - - - 1 19 -|Ehkf - | 9.9 15.0
2 |ER244E11H19H | 10:45| S 14.4| 158 2.0 - -[JK M5 ML 340 6.1 - - - || 20 | Ehkf - | 10.2| 15.0
3 |FRk245E1119H | 10:55) BE | 14.4] 158 2.0 - BERE) R mL 350/ 6.2 - - - -l 20 -|Ekf - | 9.4] 15.0
e 1 |'FERG244£10H 250 | 10:36| 210 205 75 - |FHY =T . R ML 340 94 - - - - 11 -| H Rkt 27.1| 20.0
2 |ERk244E10H25H | 10:52| 210 205 75 - - %tu — 7 . |5 ML 3100 75 - - - - 11 -| H Rk 26.9] 20.0
4
3 |[ERk244E10H25H | 11:05| 210 205 75 - AV =T . (R ML 290 7.6 - - - - 10 -| H Rk 27.0| 20.0
4
T8 I a?(?ig%lg )I‘I 1 |'FEk244£10H31H 9:25| W5 | 175 201 5.0[ >50 ) ﬁ.ﬁz{%@%% AR /b 520 75 - - - - - RS 7.0 213
ey Tl
2 k24410 A 31H 9:45| I 175 20.1| >5.0 >50 - Bt M5 ML 200 4.8 - - - - - -|fk 5.0 21.3
3 |FRk244£1031H | 10:10] B§ | 17.5] 205 >2.7] >50 KB R mL 220/ 5.7 - - - - - |kt 2.7| 205




TERROMEREE = & 1 o/ S B M TS EH

e f | e | i | A EOERO) A e O Feve | R
o | BREMUR |l BEUEAR oo ke YT iEmaE sl S i R semery (e k| s LT T e T R O G| R | R
Bl O] () | (m | (cm) (%) | () | (%) (mg/g){(mg/g) (m | (©)
I AT 1 |ERk244£10H 2 H 9:20| fE | 227 2400 15 - R fifbKFER, (MR, B 379 97| 557 - - - - |REE - | 23] 25.3
IREERR %, 77 &
Fy IR,
= & A
DT N
e
2 |'FHk24410H2A 9:30| K& 225| 255 25 - |ERE fifbkF R KZ;Z;P—;\EK 225 24| 36.0 - - - - kG - % 6.1 255
Dz, B
. 7T A
et
N TR R
3 |'FRk24410H2H 9:38| M& | 231 231 1.2 - R fifbARFR  [FRICEL 39.7| 71| 659 - - - - -|RkFEf - | 5.8 25.6
(O
~_y bR
%)
N 1 [*Frk244£10429H [10:30] A& | 19.2 22.8] 35 - -|- - L - - - - - - - -- -| 21.0
2 |ER%244E10H29H | 10:50| I 19.8] 228 4.0 - -|- - ML - - - - - - - -|- -| 218
3 | FRk244E10H29H | 11:25) BE | 19.8] 22.8] 4.0 - -|- - L - - - - - - - -- -| 220
AR TR A 1 [SEk244E11A 250 | 15:10] & 17.0| 155| 4.4 >30 S JE R ML 59.2| 11.0] 26.2 - - - -| 0.06|MEE -| 15.0
G+ | 2 |Prkeas11A26H | 10:5] & | 156 - - - - Bt 5L L 241 27| 3.0 - - - -| 0.03]- -| 16.4
3 |'FRk244E11H25H | 14:53] & 17.0 - - - -[Hf JE R L 476] 9.0 19.9 - - - - 012 -| 16.8
AT T[S 1 |Fhk244£10H 29H 9:50| M& | 17.8] 204 3.0 - | BBt R L 47.0] 30.0 - - - - - | 9.2| 19.8
2 |[Fk24410 A 29 H 9:40| M 17.8] 20.4| 3.0 - |t M5 L 46.0] 30.0 - - - - - - 10.7] 19.7
3 | k24410 H 29 H 9:30] M& | 17.8] 204| 3.0 - | BB R mL 47.0] 19.0 - - - - - - 8.3 19.7
=2 1 |'FEk244£10H 16 H 9:05| 5 | 218 220 1.2 - IRk - WS E@E;@% b 544/ 88 - - - - - -|EEkkE - R | 8.0] 205
?l
2 |'FRk244:10 16 H 9:50| fE | 21.2| 215 14 - -|IK SRkt - I ﬁ?%@%% i 520, 83 - - - - - -|EEkkE - R 8.0] 21.0
?l
3 |‘ERk244£10H16 R | 10:10 W& | 21.6] 217 1.3 - -|IK Rkt - I ﬁz{g@%% Hi 544 9.0 - - - - - -|EEkkE - R | 85| 21.0
?l
VeI |0 B 1 [FRk24410H 90 10:13( H 243| 230 23 - IR ER NG Higk 63.6| 12.7 - - - - - S| 14.2| 23.0
2 |'FRk24410H9H 10:41| W5 | 235| 227 22 - IR Bth TR % A% 65.5| 13.4 - - - - - -, 14.0| 23.5
3 |'Frk24410H9H 10:58] Hif 232 225/ 3.0 - R ER () Higk 64.4 13.0 - - - - - - 14.5] 23.0




ERLAFIEE =42 ) > 7 AR EH
e f | e | i | A EOERO) A e O Feve | R
o | BREMUR |l BEUEAR oo ke YT iEmaE sl S i R semery (e k| s LT T e T R O G| R | R
{4 O] () | (m | (cm) (%) | () | (%) (mg/g){(mg/g) (m | (©)
RIGIR | RAE 1 [¥Rk244E11 7190 [12:08] & | 149 17.7] 3.2 - B ﬁwz;kf% Hi 67.8| 11.6 - - - - - |REE - | 19.1] 19.3
2 |ER244E11 7190 | 12:38] = 149 177 3.1 - -|Ee ﬁ.ﬁz{%@%% Hi 68.0| 11.6 - - - - - -|FkE - % 189 191
?l
3 |ERk244£11H19R | 12:59| s | 14.2| 177 3.3 - -|Ee ﬁ.ﬁz{%@%% Hi 68.3| 11.7 - - - - - -|REE - ¥ 19.2| 18.6
?l

Ko | K2R A 1 |[FRk244-12H 10H 9:30| s 8.0 9.6 -| >100 IR TR Hi%, /M| 259 15/ 6.9 - - - 1.8] 0.025|/KfkE 20| 12.6
(K53 H) 2 |FHi24412100 | 10:15| W 8.0/ 10.2 -| >100 B HIRA L 26.1| 17| 98 - - - 1| 0.024|IK G ta 20] 11.3

3 |'FRk244E12410H | 11:10] W 8.0/ 115 -| >100 -[Hf 5 Higk 265 16| 1.2 - - - 0.7] 0.007|JKkkE 20| 144

G PRSI 1 [Fpk244£10431H [12:15) B | 20.3] 19.0 | >50 KB - |ER L 138 15 - - - - - | 0.6| 19.0
(C=130) 2 |ER%24410A31H |11:50] W5 | 20.3] 19.0 -| >50 KB -k |IER ML 53] 1.6 - - - - - -| e fh, 0.4| 19.0

3 ['Fpk244F10H31H  [12:31] W | 203] 191 - >50 KRB R |ER mL 176 15 - - - - - - 0.5 19.1

RS IRCRBENT (55| 1 [FRle44E11H 130 [11:20] & 14.2| 16.0 -| >100 |fB e - s TAE (80 |/ha 247 16| 22| 55.4| 424 2.2 - |t 0.3| 16.0
) 2 |'Ppk24%F11H13H | 10:40[ W& | 13.0] 16.1 -| >100 -|A e AR (30 |/ 185 0.7 06| 55.7| 437 06 - -| 0.1 17.0

3 |'FRk244E11413H | 10:15] & 12.3] 159 -| >100 | Ate 5 e 201 1.0 0.7 680/ 313 07 - 3= 0.1] 19.0

HHENER| 1 |'Fk244E11H128 [11:35) W | 155 155 -| >100 | BBt 5L N 179 16| 17| 742| 241 17 - | 0.3| 15.5

B (WHE| 2 | Epk244E11A 128 | 1055 W | 155 145 -| >100 -|FRB e 41 5L NG 215 08| 49| 484| 467] 49 - B 0.3 145

AT ) 3 |Epke4E1112H | 10:10] B | 155] 145 -| >100 | BBt 5 ha 195 1.0| 18| 710/ 272 18 - - 0.3] 145
TRHRIR AR 1 [*¥k244E11 9200 [10:00] A& | 20.8] 23.00 1.9 - - B Tk NG 43.0( 12.0[ 93.0 - - - - |, 7.8 -
2 k24411 H20H f§ | 215 238/ 20 - KB R | FAR HHHE 46.0] 15.0| 84.0 - - - - -, 75 -

3 |'FR244E11H20H | 10:45] 210 233] 6.3 - R KR o T 38.0 13.0] 87.0 - - - - 3= 9.0 -




